
https://www.passapply.com/c1000-093.html
2024 Latest passapply C1000-093 PDF and VCE dumps Download

 

 

 

C1000-093Q&As

IBM Cloud Pak for Integration v2020.1 Solution Architect

Pass IBM C1000-093 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/c1000-093.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C1000-093 VCE Dumps | C1000-093 Exam Questions | C1000-093 Braindumps                                1 / 3

https://www.passapply.com/c1000-093.html
https://www.passapply.com/c1000-093.html
https://www.passapply.com/c1000-093.html


https://www.passapply.com/c1000-093.html
2024 Latest passapply C1000-093 PDF and VCE dumps Download

QUESTION 1

What are two characteristics of storage classes that are required for API management capability deployment? 

A. Any storage must be of type File System 

B. Depending on the use-case both block and file system storage classes are supported 

C. Only block storage classes are supported 

D. Block storage for distributed and file system storage for localized 

E. Requires an access mode of Read-Write-Many 

Correct Answer: BE 

 

QUESTION 2

Which statement is true about IBM Event Streams? 

A. A hierarchical Pub/Sub topic architecture is available 

B. All servers must be located in the same data center 

C. Persistent storage is enabled by default 

D. By default the consumers offset is automatically committed in the background 

Correct Answer: A 

 

QUESTION 3

An OpenShift v4 control plane node has failed. Which is the recommended method to restore the cluster? 

A. Restore all cluster master hosts from a previous backup 

B. Remove the member from the etcd cluster and then add the member back to the etcd cluster 

C. Remove the member from the API server cluster and then add the member back to the API server cluster 

D. Run the master-restore script provided as part of OpenShift 4 

Correct Answer: D 

 

QUESTION 4

Which is an IBM Cloud Pak solution advantage? 

A. Full software stack support, ongoing security, compliance, and version compatibility 
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B. Continuous Delivery and Continuous Integration (CD/CI) tools 

C. Dedicated support team for application migration to IBM Cloud 

D. OpenStack integration out of the box 

Correct Answer: B 

 

QUESTION 5

In Cloud Pak for Integration, which object can be used to request storage resources without knowing the underlying
storage infrastructure? 

A. Persistent Volume Claim (PVC) 

B. Persistent Volume (PV) 

C. RADOS Block Device (RBD) 

D. Elastic Block Storage (EBS) 

Correct Answer: C 
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